==
Al = 0 &F At Al A
2001EE £ 1 5] LB WSS
= HSEED
Hu: FS0ITe PE(SSHUDB/HS)
ool HSAL 25 (=E LD
S - 3 - RA(SH) - MRAY - BAS Ol &k OH N HwES2
MSEED 14,760,073 15,090,631 330,558
bl 700,000 1,700,000 1,000,000
| 1,761,648 1,569,648 192,000
= 850,041 675,023 175,018
Al 11,448,384 11,145,960 302,424
MSoloet PE(2SYLBB/HS) 13,298, 180 3,824,713 526,533
bl 700,000 1,700,000 1,000,000
gl 1,761,648 1,569,648 192,000
< 850,041 675,023 175,018
Al 9,986,491 9,880,042 106,449
HMSAL 25 7,824,963 8,620,941 AT795,978
bl 700,000 1,700,000 1,000,000
gl 1,134,000 1,134,000 0
= 425,000 425,000 0
Al 5,565,963 5,361,941 204,022
ITHSAL 29 794,000 454,000 340,000
401 AlEHIL 20| 794,000 454,000 340,000
01 AlZH] 791,552 451,552 340,000
OYFAQIZATT BLBA}
300,000,002 * 14! 300,000 0 300,000
OOHED 232 NOIESE FLBA(SEEE
n23) 40,000,0002! * 14! 40,000 0 40,000
SUHSAE 29 126,960 106,960 20,000
401 AIZHIL 2T 120,000 100,000 20,000
01 AIZH] 120,000 100,000 20,000
OSUHSAE 25|17 &5
A 4,000,008 * 155 60,000 40,000 20,000
EESNINTEX-Eqex 1,328,461 1,333,299 £4,838
201 LBr2y] 545,762 550,600 ~4,838
01 AFR 2] 43,502 48,380 A4,838
OAU4ZT BE PU(HAE)
2% 8,000,002 8,000 10,000 A2,000
OALISEE ADE 2ol(IARZ)
2% 10,000,0002 10,000 2,000 £2,000
QA AFRRI2IHI(04EY)
A% 2,162,008 2,162 3,000 838
IEENEREEY 134, 155 135,295 A1,140
201 Br2y] 123,580 24,720 A1, 140
01 AFR 2] 10,260 11,400 A1, 140
OUEI=ASHE ADE 2U(0IAE)
2% 3,780,002 3,780 4,200 £420
ONBIIE 23 242 (HAE)
2% 1,29,0002 1,29 1,440 A4




2A MEdED
M HselZel RR(2A2E/HK)
A S

ol MSAIL 25 G=CE-E)
SA - H . SR(BH) - MPAY - BES Ofl At plE=Ll SImE=ST}
OUI=SAERE 24 78 NE(00E)
Z2& 5,184,000& 5,184 5,760 2576
(D)AE=AHEZAA ZTHAIY 0 1,000,000 21,000,000
s 0 1,000,000 21,000,000
401 AIEHIZ 2| 0 1,000,000 21,000,000
s 0 1,000,000 21,000,000
01 Al&HI 0 993,700 A993,700
OAEZ=HSAA X4 Z2E 0= 0 993,700 A993,700
s 0 993,700 A993,700
03 A& =01 0 6,300 26,300
OAZ=HAZTAA T4 28 0 0 6,300 26,300
B 0 6,300 £8,300
(2)20UNRHEAE 1,350,000 2,000,000 A650,000
| 1,000,000 1,000,000 0
Al 350,000 1,000,000 650,000
401 AIEHIZ 2018 1,350,000 2,000,000 650,000
I 1,000,000 1,000,000 0
Al 350,000 1,000,000 A650,000
01 AlEHI 1,350,000 2,000,000 A650,000
OYEBLIHINISME1RS
213 1,000,000,0002 1,000,000 2,000,000 1,000,000
| 1,000,000 1,000,000 0
Al 0 1,000,000 21,000,000
OYEBICHINSHE EXT E4
350,000,000& * 14! 350,000 0 350,000
FAL2ESE dENSSE 4 500,000 0 500,000
401 AIEHIZ 2018 500,000 0 500,000
01 AI&H| 500,000 0 500,000
OYFAIRISSE MEUSDY TH(2X 0HY)
500,000,000& * 1Al 500,000 0 500,000
Hsstd &4 5,473,217 5,203,772 269,445
I 627,648 435,648 192,000
< 425,041 250,023 175,018
Al 4,420,528 4,518,101 297,573
EENMEEET 233,732 221,178 12,554
307 212H0I & 233,732 221,178 12,554
03 BIRIHHE2HHIE X 233,732 221,178 12,554
OYZAINSS 2Y(2ES FH)
J8 233,732,000 233,732 221,178 12,554
2gE 4 121,558 71,558 50,000
307 QI2t0I & 112,000 62,000 50,000
02 2IZHE&AHE X 112,000 62,000 50,000
OURIERAHL AJIRE N/ (D%, 24, A4
(258 M) 213 70,000,002 70,000 30,000 40,000




25 M=
M M0zt PER(2IYLAY/NF)
&t HsE8d =4 CERE)
2 -3 A2(ZH) - MIRAR - BES 04| Aot f[ElioB Hns2
Ot=mAH2 A0 SHATA(EXS HH)
10,000,000 * 1Al 10,000 0 10,000
ZHOHRI KIS X 28,878 70,420 41,542
301 LB A 3,078 3,420 A342
09 SHAAHIXIR 2 3,078 3,420 A342
OE=ZFHOMMIMFUZ EILXRF o] (0larE )
ZA 1,053,000 1,053 1,170 A7
OFeIE=2EM=UR & K& odl(olarEZ)
ZA 2,025,000 2,025 2,250 N225
307 12| 25,800 67,000 A41,200
04 DI2FEHAAIRIE X 10,800 52,000 241,200
OHN238 AS=HMIMSUE EHEH(BEES
HH)(ESH A2) Z23 02 0 40,000 240,000
OM53l EFHHINs MIEIHISHE(BERS
FHoH) (Ol AR ) ZA 10,800,000 10,800 12,000 21,200
AFAIQIHSUE XA 424,000 386,000 38,000
307 120 A 424,000 386,000 38,000
04 DIZFEHAAIRIE X 424,000 386,000 38,000
OHMI423] d=AICIHEUHE S8HS XNJ(BXE
oK) A 247,000,000 247,000 209,000 38,000
FECOUHSUIIEIIXIH 340,000 300,000 40,000
307 12| 340,000 300,000 40,000
04 DIZFSHAIAIAE X 50,000 10,000 40,000
OHMR9g| BEZUHEU =S=2E (KA
JH(2X8 HW) A 50,000,000 50,000 10,000 40,000
AZEIIESSEMEUHS XA 72,000 80,000 8,000
307 12| 72,000 80,000 8,000
04 DIZFSHAIAIIE X 72,000 80,000 8,000
OAIED| E2EHSUS W N(BEE FH)
(GllarE2) 2 72,000,000 72,000 80,000 28,000
SHINSESXY 261,500 263,100 A1,600
307 GI2H0| A 261,500 263,100 21,600
04 DIZFEHAAIRIE X 14,400 16,000 21,600
O£=g 2= Jsla &)1 2 JY(BXs8
FHoH) (oAt EY) 23 8,100,000 8,100 9,000 2900
OHMI583 Z=e4Ml=Hz &It 24| K&
(BXE M) (0IarE2) A 6,300,0002 6,300 7,000 A700
ME Y S CASIK 4,500 5,000 2500
307 120 A 4,500 5,000 2500
04 DIZFEHAAIRIE X 4,500 5,000 2500
OMEHISXIEIH L AIR=2 X2 o4 ZDF X
(X8 HM)(0IarE2) A 4,500,000 4,500 5,000 2500
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A ASTSY
Y MKt PH(RLBZ/AK)
ool MSEE T4 (St &)
S - S(B) - NS - BES Ofl ko JIF HInE2
04 DIZHHAIAIIE X 13,500 15,000 A1,500
OAlBI H2AZDI0H3] HEl K (BES HH)
(OlArES) 23 13,500,000 13,500 15,000 A1,500
A= 0E20EN 10,350 11,500 A1,150
307 2I12t0I™ 10,350 11,500 A1,150
04 DIZFSHAIAII B X 10,350 11,500 A1,150
OZ=2I0 XHold SR0E K (BES FH)
(Oflar=2) Z3 8,550,000 8,550 9,500 A950
OZ=2I0 24 =103 &It Y| NY(BES
FoH) (ol AFE ) 23 1,800,000 1,800 2,000 A200
HZ=Z)|QI AN IS TSI K 65,005 72,250 NT,225
307 2I2t0| ™ 65,005 72,250 NT,225
04 DIZHHAIAIRIE X 65,025 72,250 AT ,225
OM143] F=ZI|QIAHN MEHSSSIES
ERUS(EXE HW)(OlArE)
2H 12,825,000 12,825 14,250 1,425
OM143] SFEI|QIAHH HES50 HOIER
HE(2X8 HAU)(0AEY) 17,100 19,000 A1,900
23 17,100,000
OMI98| FFZI|QIAEA H2BE50 NEHS
(2X8 FA)(0larEZ)  HF 17,100,000 17,100 19,000 A1,900
OMl443] F=ZI|04aH) M2S501 L 0=
HILIACHEI(2ZXE Ho)(0lAER)
23 18,000,000 18,000 20,000 A2,000
MER| S A B X2 93,600 104,000 A10,400
307 212t0|™ 93,600 104,000 10,400
04 DIZFSHAIAIIE X 93,600 104,000 10,400
02021 LFAIQKEHED US| HE(BES HoH)
(OlArE2Y) 23 8,100,000 8,100 9,000 A900
OM93| YEOH2 J2tES HE(2X8 HH)
(Ol arz2L) 23 40,500,000 40,500 45,000 A4,500
OLFAIZ X284 =2 AOI20E] IHA
(2X8 Fo)(OlarE)  HF 45,000,000 45,000 50,000 5,000
2OIHSTSZCOIARE HBA0I2043] 0 70,000 A70,000
307 2I12t0I ™ 0 70,000 A70,000
04 DIZHHAIAIRIE X 0 70,000 A70,000
ORMI233| ZRIRSXSZ OIAFEEN &= AOIZ
CHEl L 2001 DIAEIR FFE0! JHE(28 Al
23 0 0 70,000 A70,000
HMIASCUIIXA 0 15,000 15,000
307 212t0I™ 0 15,000 15,000
04 DIZFSHAMAII B X 0 15,000 15,000




25 M=
M Hs0Tet (2L 2H/HK)
e HSed X4 (&2 AR
2 -3 A2(ZH) - MIRAR - BES 0| AkoH J|&oH Hns2
OHMI43| HHIRSI=HDIE BE2YH2 S0
(HIEAIY BHA () 22U 2R)
3 02 0 15,000 A15,000
222 J0RUEIXI 4,500 5,000 2500
307 120 4,500 5,000 2500
04 DIZFEHAIAIIE X 4,500 5,000 2500
OZ=2eI XM F=AAEI2IZ| T OFRHE
(Bxs M) (oarE 22X 4,500,000 4,500 5,000 A500
HIERUI XS 0 8,000 28,000
307 12| 0 8,000 28,000
04 DIZFEHAAIRIE X 0 8,000 A8,000
OHMIB3| At2HY M2ZQE 2IXISERUEI(ME
A HE () E2ERHI KR O2) 0 8,000 28,000
2 0d
HMI=2MU3 X 40,500 45,000 24,500
307 IZH0| A 40,500 45,000 24,500
04 DIZFEHAIAIRIE X 40,500 45,000 24,500
OHMI183] Y=AIZDIED| MZ=RH3] Wz X
(EX8 HM)(HarEZ)  ZHE 40,500,000 40,500 45,000 24,500
YR ABSI2AD|HF] K 27,000 30,000 A3,000
307 IZH0| A 27,000 30,000 A3,000
04 DIZFSHAIAAE X 27,000 30,000 A3,000
02021 YF=AEIZA)|NE] MHE X (Bxe
FHoH) (0l AR Z3A 27,000,000 27,000 30,000 23,000
ORIS=01E & MY 29 140,000 165,000 225,000
307 12| 125,000 150,000 225,000
02 DIZIHAIAIA 2 X 125,000 150,000 225,000
ONE ISHINE 2H(EXE HU) (22
A4 I 02 0 25,000 225,000
SIS (BIER) ARXZSYS2Y(2IIEEXH) 20,000 0 20,000
307 120 A 20,000 0 20,000
02 DIZIHAAIE X 20,000 0 20,000
OYZ=ATEHLIA ATZXZ2Y 29
20,000,000 * 1Al 20,000 0 20,000
(S)L=AAMDIIEHI HE XIS 0 240,000 A240,000
[ 0 30,000 30,000
Al 0 210,000 A210,000
307 12| 0 240,000 A240,000
[= 0 30,000 30,000
Al 0 210,000 A210,000
04 DIZFEHAIAIIE X 0 240,000 240,000
OYF=ABHAOIRIELNS Z2A 0 0 240,000 240,000
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2A SIS
M HolZet PE(2L2/H=K)
&t HsE8d =4 CERE)
S - 3 - RA(SH) - MRAY - BAS Oif &K I BN HwES2
= 0 30,000 230,000
Al 0 210,000 A210,000
(S2)H=(ZO0HN)MA X 63,018 0 63,018
= 63,018 0 63,018
307 2I12+01 ™ 63,018 0 63,018
= 63,018 0 63,018
02 QIZHEAAEE R 63,018 0 63,018
OHI1028] d=HHE 3IIE &H
21,260,000& » 14l 21,260 0 21,260
= 21,260 0 21,260
OHN1028 d=2MA =X
24,800,000& * 14! 24,800 0 24,800
== 24,800 0 24,800
ORI413] ZOHIME Z2I1E YA
12,958,000 * 14 12,958 0 12,958
[ 12,958 0 12,958
ORI413 ZOHRIMA o2XIH
4,000,000 » 14 4,000 0 4,000
= 4,000 0 4,000
(D)H2=2EU3 XA 23,000 0 23,000
[ 8,000 0 8,000
Al 15,000 0 15,000
307 QI2tol & 23,000 0 23,000
= 8,000 0 8,000
Al 15,000 0 15,000
04 DIZFHAIAIE E X 23,000 0 23,000
ORNI43 HUI23t=EH0IE A=SEHIS U3
(HISAIY HE " EH2Z USRI "0A)
23,000,000& * 14l 23,000 0 23,000
= 8,000 0 8,000
Al 15,000 0 15,000
(Z2)H=ERUIXR 12,000 0 12,000
= 4,000 0 4,000
Al 8,000 0 8,000
307 g12+ol& 12,000 0 12,000
= 4,000 0 4,000
Al 8,000 0 8,000
04 QIZIHAIAIHEE X 12,000 0 12,000
ORNIgal &=t 8=22E ctASEFUE
(MISANY S "M IERHSIXIR"0A)
12,000,000& * 14l 12,000 0 12,000
= 4,000 0 4,000
Al 8,000 0 8,000
()&= BSOS s X 18,000 0 18,000
= 8,000 0 8,000
Al 10,000 0 10,000
307 QI2tol & 18,000 0 18,000




2A SIS
M HolZet PE(2L2/H=K)
&t HsE8d =4 CERE)
S - 3 - RA(SH) - MRAY - BAS Oif &K I BN HwES2
= 8,000 0 8,000
Al 10,000 0 10,000
04 BIZFHAAIHE X 18,000 0 18,000
ORI43] SAIABHAN MIHHERIEHS
18,000,000 14 18,000 0 18,000
[ 8,000 0 8,000
Al 10,000 0 10,000
(DAAHLIELIA HHTHS] Wzl XA 600,000 0 600,000
Il 192,000 0 192,000
< 122,000 0 122,000
Al 286,000 0 286,000
307 gl2told 600,000 0 600,000
| 192,000 0 192,000
(= 122,000 0 122,000
Al 286,000 0 286,000
04 DIZHHAIAIH E X 600,000 0 600,000
ONAIIELIASH =AU W2l X2 (HSAFY
HE "MIAHDIELIA d=AS] JHE XIJ"
0l M) 600,000,000& » 14l 600,000 0 600,000
I 192,000 0 192,000
< 122,000 0 122,000
Al 286,000 0 286,000
NAHLELA d=2Hs Izl X 34,640 200,000 165,360
207 S 34,640 0 34,640
01 &I 34,640 0 34,640
ONAIIELIA SR JI2HE 8 89
34,640,000& » 14 34,640 0 34,640
307 gl2+old 0 200,000 A200,000
04 BIZIHAAIHEE X 0 200,000 A200,000
ONAIIELIA SRS W=l XIJ(MBAL
HE " (F)MALIELIA S4=ATH3| K2l XI&"
oZ) 28 0# 0 200,000 A200,000
HHOIZAIE 2e|(23tL 22/ M=) 463,157 432,307 30,850
HIOITAIE 22 463,157 432,307 30,850
LAl AEHEBH 29 149,893 149,043 850
101 QI24H] 44,369 38,369 6,000
04 JI2tHIZEXIS 2= 44,369 38,369 6,000
OEFAl IHENHSE SSAEH oA 22 44,369 38,369 6,000
A= Z2E 69,7603 * 2F * 258 35,997 31,392 4,605
-5 28 69,7603 * 2% * 50 6,976 5,581 1,395
201 LEH2| 44,674 44,974 A300
01 At2teld] 2,704 3,004 A300
OZ=Al MHENHSH 22l 2,704 3,004 A300




A

HF&S

HE: HI0|DAIL B2l (2HUBB/HS)
SC ENTTIE NPT (Sr9: &)
A - B SR(Z) - MRAY - BES Ol &kt JEH Hws2
—SEA HA82 PU(0NED)
A% 450,002 450 600 A150
—ZTREA 0L AREE 2Y(HAE)
A 450,009 450 600 A150
405 TS 43,650 48,500 £4,850
01 RIS ZF S| 43,650 48,500 ~4,850
OBBRTH P(0E)
A 3,150,002 3,150 3,500 A350
OFIINTH P(04E)
2% 40,500,002 40,500 45,000 24,500
REAE2 N2+ 313,264 283,264 30,000
401 AlBILSCHY| 240,000 210,000 30,000
01 AIZH] 239,370 209,370 30,000
OHIOIAEYZ AILS HE42A
2% 2000002 * 650m 130,000 100,000 30,000
ANBIS ST 2| (2 LBB/HIS) 851,285 675,249 176,036
2DIHSHE 22 252,290 86,290 166,000
20HSHEH AL 247,290 81,290 166,000
405 KIS 206,000 40,000 166,000
01 RIS ZF S| 206,000 40,000 166,000
OS4ZII 7H 827 ¥ J|7 505 7
70,000,000 * 14! 170,000 0 170,000
O2LHSHEH sTBH 2 (AR
2% 36,000,002 36,000 40,000 24,000
HS Al 2] 598,995 588,959 10,036
NEEEEEE 259,190 259,654 ~464
201 BI2Y| 257,510 257,974 A 464
01 ArR22H] 4,176 4,640 Ad64
OSIHABE T(0I4E)
2% 2,160,002 2,160 2,400 £240
OMYIIBTHEE PU(HAE)
A3 2,016,009 2,016 2,240 ~224
eV ENERE 339,805 329,305 10,500
201 B2 ] 3,480 6,480 30,000
02 ZZ=H] 3,480 6,480 30,000
OS4ZIIF 25 ol 2es ZoiE
10,000,000 * 14! 10,000 0 0,000
OS4ZIIF 7H 87 « JI17 95 42/
20,000,000 * 141 20,000 0 20,000
401 AlBILSCHY| 287,000 306,500 19,500
01 AIZH] 287,000 306,500 19,500




SN HSHED
HE: AQISSHEL(SHUBB/HS)
ool HSAl e (Sr9: &)
S - B BR(S) - NRAY - BES PN plEL HimE==T
O=0INSAEH Ot 4 SAHESY A1)
233 02 0 19,500 £19,500
HHSAAHI(MSTED) (OIEHIIED 146,272 168,362 A12,090
EETT 146,272 168,362 ~12,090
o= 146,272 168,362 ~12,000
201 Br2H] 60,292 62,962 £2,670
01 Ar= 2l 60,292 62,962 A2,670
OSASX PY(UAEY) 2 3,478,002 3,478 3,648 AT70
OS20HAI (04 27 8,076,009 8,076 9,576 A1,500
OYLBIE22(0IAEY) 27 90,0009 90 1,200 £300
OJIEH AIRBIRIHI(OIAE) 2 40,0002 440 1,140 AT00
202 01t 81,000 90,000 9,000
01 =LHoIb 81,000 90,000 89,000
OBLHOIHI (0l A=) A% 50,220,000 50,220 54,720 £4,500
OB2I01HI (0l A=) 27 19,440,002 19,440 23,940 £4,500
203 2= 3,780 4,200 2420
V=T 3,780 4,200 A0
ORNSYYRETI(04EY)
2% 3,180,002 3,180 3,600 £420
WS (MSTE) (SHLBZ/HR) 1,179 1,179
SHNE 1,179 0 1,179
EEE 1,179 0 1,179
802 BH& 20|} 1,179 0 1,179
2 Al - cHiEx2urera 1,179 0 1,179
020208 1,179 0 1,179
—MBHSDA(ST, HUA S) 29
1,174,500 * 141 1,175 0 1,175
~MERSDA(ST, HUA S) 25(0IX)
3,870%1 * 14 4 0 4
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